YEAR 12 PRACTICAL 13
DETERMINING THE ENTHALPY OF COMBUSTION OF ETHANOL
Method:

1.
Using a measuring cylinder, pour 100 cm3 of water into a copper calorimeter.

2.
Mount the calorimeter on a clamp stand and record its initial temperature.

3.
Take a spirit burner containing ethanol and record its mass to two decimal places with the lid on.

4.
Remove the lid and place the spirit burner under the calorimeter.
5.
Light the spirit burner and allow it to heat the copper calorimeter until the temperature of the water has increased by 30 oC.

6.
Put out the spirit burner by putting the lid back on.

7.
Weigh the spirit burner again and record the loss in mass.

8.
Repeat the experiment and note the average loss in mass.
Analysis:

1.
Use the equation q = mc∆T to calculate the heat transferred from the spirit burner to the water.

2.
Use the change in mass of the spirit burner to calculate the number of moles of ethanol used.
3.
Hence calculate the enthalpy of combustion of ethanol.

Evaluation:

1. Identify the main source of error in this experiment.

2. Write an equation for the enthalpy of combustion of ethanol.

3. Using the following average bond dissociation enthalpies to estimate the enthalpy 

of combustion of ethanol (C=O +805, O-H +463, C-C +347, C-H +413, O=O +498, C-O +358, all in kJmol-1)
